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Mean and 658% Confidence Errors

Amplitude of fluctuations A= 083008

Spectral Index at k « 0.05 Mpe! n, = 093 40,03
Derivative of Spectral Index dn,/dInk = 0,031 01
Hubble Constant h=07100

Baryon Density Quh? = 0.0224 £ 0.0009
Matter Density Q. h? = 0.135+) 008
Optical Depth 7« 017 £ 0,06

Matter Power Spectrim Normalization os = 084 + 0.4
Characteristic Amplitude of Velocity Fluctuations o305 = 0.38*001
Barvon Density /Critical Density Q5 = 0,044 £ 0.004
Matter Density/Critical Density Q. =027+ 00M

Age of the Universe fo = 13.7 £ 0.2 Gyr
Reionization Redshift® 2= 1714

Decoupling Redshift Zdec = 1089 4+ 1

Age of the Universe at Decoupling tdee = 37972 kyr
Thickness of Surface of Last Scatter Atgee =195+ 2
Thickness of Surface of Last Seatter Atdee = 11-‘.‘f?} kyr
Redshift of Matter/Radiation Equality Zeq = 3233* 700

Sound Horizon at Decoupling re = 147 £ 2 Mpe
Angular Size Distance to the Decoupling Surface  d4 = 14.0703 Gpe
Acoustic Angular Secale® £4=30141

Current Density of Baryons ng = (25+0.1) x 10-7 em—*
Baryon/Photon Ratio n=(6.133) x 10-1°

*Fit to the WMAP , CBI, ACBAR, 2dFGRS and Lyman o forest data

b Assumes ionization fraction, r, = 1
‘ I.\ o :‘i(';"r.
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mass 0000000 2-000000000000000000010TeVOOODODOODO
O effective field theory 000000000

00000 little Higes 0O OO0 000000000000 OOOO dark matter J 00O
000000000000 DOO0OO0O0000 ” theory space” little Higgs models O O O O
00D000D0D000D0000O0D0 dark matter relicdensity D OO0 O0O00O0O0OOO0OO
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O00000000000000 darkmatter 00000000 Ref[12]0 00000000
gooooood

O000000000000D00SUSY 000 universal extra dimension 0 0 OO
0000 WIMPsOODODODODOOOODODODOOOODODOOOooOooOo

001000000 Cheng LowDO OODOOO0OO0OOO0OOOOOODOOODOOODOO
obobodooobuobobooobobDtUlmass0obobooooboboboOoO
0000 (Ref[l6))D0 0000000000 TeVOOOOOOODOOOOOODOOODOO
gbooooooooooooobobob0obobobobobobOon Tev O mass O
ooooowiMPOOOOODOOUOOODDOODOOD darkmatter DOOO0O0D0O0O
ooooo

0000 little Higgs model DO DO OO dark matter OO OO0 OOOODOOOO
OO00000O0OdecayOOOOODOOOODOOODODOOOOOOODO fundamental 00O
OO000UVcompletionOOOOOOOOOOODOOODOOOODOOOODOOODOOO
ooooooooo

3.9 Kaluza-Klein states

gboobob 4000000000000 DODOOODOODOODOODbDODOOODO
DooooooooooDo 192100 KalvzaOOOODODOOODODOOODOOODOO
gboboobooboboooboobooboboobooobooboonobo

0 braned =000 (3+1)00000
0 bulk D —sbrane000000000 34+6+1)00000
00000000000000000000000000000

D0000000000000 bulkO0OOODODOODOD propagating 0 p? ~ 1/R?
0000000000000000000

000 ROODODODODOOODDOOODOODODOODDOODOOODODOOODOODObOOO
00000 bulk 00000 Kaluza-Klein(KK) states 0 0 0000000000000
000000000000 00000000 KK-states 0 dark matter 0000000
O00O0O0O0O0ODD0Ref47I0 00000000 ODO0O0OOOOOOODOO0OODOO first
KK excitation0 000 O0O0OOO0OO0OO0O hypercharge 0 OO0 O0O0O0O0O0O0O first KK
excitation D O 0 O Servant 0 Tait 0000 000ODO first KK excitation relic density O
000000000000 0O0darkmatter 1000000000000 ODOOOOODOO
O0000mass0 00000000000 [Ref[13]]0

400GeV < m < 1200GeV (40)
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OO0000D0O0massO0O0 KKparticleDOOOOOOOOOOOODOOOOODOO
OO0O000OobDOO0OGENIUSDO XENONODDOOOUODOoOoooooouoboDbooaoo7
000000 LHCOO TeVOOOODOOODOOODOOOOOODODOODOOODO
OboobOoobobobooooobobOobOD KK-states dark matter D OO0 0 00O O
aoo

3.10 neutralinos
neutralinos0 040000
e binol =000000000O000000000 B-boson[d superpatner
e winol = 00000000000000O000O W3-boson O superpatner
e Higgsino 1l=—= 000000000000 ODOODO Higgs boson U superpatner
e Higgsino 2— 000000000000 ODOODO Higgs boson I superpatner

goopooogoooogoooguooboooouoobooogno
X = N11B + N1oW3 + Ni3HY + N1y HY (41)

D0D00D00000000000 (B,Ws, H), H)) O neutralinos 0 000000 Ny,
0000000 neutralino mass matrix 0 00 000000000000

My 0 —MzcosfBsinBy  MysinBsinby
0 Ms MyzcosBcosby — —MyzsinBcosbyy (42)
—MzcosBsinfy  MygcosBcostyy 0 —
MygsinBsinfy  —MzsinBcosOyy — i 0

000000 M; = bino mass parameter
000000 My = wino mass parameter
00000 tanfB = Higgs boson 00000000
0000000 pu= higgsino mass parameter

0000000000000 0000U00OO Minimal Supersymmetric Standard Model:MSSMO
O0000000000000 neutralinosd LSPOOOOOO0OOODOOOOODOOODO
Odarkmatter 10 0000000000000 0O00OOOOOODOODOODOODOO neu-
tralinos 0 dark matter 0 0000 0000000000000 O0OO0OOOOOOODODODO
O00ooooooooo
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neutralinos 0 dark matter 0 0000000000000 OO0OODOOOOOOOO
OoooooooooooooooobobooMSSMOOOOOO0OUOOUOOOproton decay
Uboobob0 RparitylO0O0O0O0OO0ODOOOODOOOODOOODODOODOO

R = (_1)25+3(B—L) (43)

000SOBOLOOOOODODOODOOOODOODOOODOOOOODOOODOOOOOOn
ooboooobooooooooob R=+100000000000OO0R=-1000D0
R-parity 0D ODOO0OODOOODOOODOODOOODOOROODOOODOOOOODOORDO
0000000 oOOobOo0o0oooooobOOooooobOooboOoOooaLspoOo0ooOoO
OdecayUUOODOOOOOODOODOOOODOOODODOOODODODOODODOODODOODOO
neutralinos 0 dark matter 00 0 0000000000 DOOOOOOO

OddoDoDDD darkmatter OO0 000000000 O0OOOOOOOOODOOOO
O0neutralinos 0 0000000000 O0OODOOODOOODODOO 31000000000
D00000O0D0darkmatter 0000000000000 0O00OO00O0O0OO0OOOO
neutralinos0 mass 0000000000000 DOOODOODOODOODOODODOODO
000000000000 D000 neutralinos 0000000000 DOOODOOODOO

neutralino d dark matter 0 0000000000 DO0ODOOO0OO0OOODODOOOOO
O0massO000000O0O0O0O0 200GeV ~ 2000GeV OO DOOOODODOOOODODOOO
0000d0o00oo0ooO00oDo00oo0o0DoOO00D0O00ooO00DO0OO00nddark
matter 0000000000000 0O00OO0OOOOO0OODOOOOOOOOOOOOn
05000

3.11 0000 dark matter 0 O

gbobooobobobobddarkmatter 0000000000 0O0O00O0O0OO0ODOO
ubboobuoobobooboobbooboobbooboaoboo

Q-balls O Ref[480 49]0

e mirror particles O Ref[500 510 520 530 54]0
e charged massive particles(CHAMPs)(Ref[55])
o self interacting dark matter(Ref[560 57])

e D-matter(Ref[58])

e cryptons(Ref[590 60])

e superweakly interacting dark matter(Ref[61])
e heavy fourth generation neutrinos(Ref[62])

e brane world dark matter(Ref[630 64])
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4 relic abundance calculation

4.1 0O0OO0OO0OO0OO0O0OODOOO0OO0OO0O0

dark matter J 0 00 00O 0O Orelic abundance D0 000000000 O0OOOODO0O
0 O O O Lee-Weinberg calculation(Ref[17]) D00 DO00O00000O00O0O0000OOO
00000000000 DO00ODO0DbO0DO0DOO0DOO0DOODOODOOD 300000000
OO0O0Ref(18)000000O0OODODOOOO

O000000ODOdrelicparticle0 000000000 0OOODODOOOODOODODOO
Omass0O0 0000000000000 0O00DOmassO0000000O0O0OOOODOO
00000000000 00000O0000A0 relicabundance d 00O O O O annihilation
cross section 1 0 00O O0OOOOONO extra particlesd O annihilation 0D 0 OO0 OO O
00000000 extra particles d O annihilation O coannihilation 000000000

O0000D0D000000Orelic particleD0 0000000 annihilation0 0O O0O0OOO
O O annihilation O ”forbidden” channel annihilation 000 0000000000000
000000000000 00000000000000D0O000O heavier particle d 5~10
0000000000000 000 channel O annihilation cross section 0 0 0 0 0O O O
00 00Orelicabundance 000000000 0DOO0OOOOODOODOONODNO Oannihilating
particle O final-state particle DD 0000000000 final-state 0000000000
0000000000000, WYW—,Higgs bosons, 10000

00000000 DOannihilation0 0 0000000000000 OODOOODOOOO
000000000 0Orelic particle mass~ myz/2 0 0 0O O O Z boson propagetor 0 0O 00O
O000D000000 propagetor U0 D0 O0D000O0O0O0OOOODOODOOODOOODOO
Uoo0doobo0boobobboobouobuoboUgbobnddrelic abundance 00 OO
000000o0ooooooon

30000000000DO00O0DO0DO0ODODOODODOD0 simple formula 0 00O O
oooo

4.2 standard calculation of relic abundance

0 00O 00 Lee-Weinberg scenario D 0 0 0 0 00O x O relic abundance 0 O O standard
technique 00 0000000000000 0DODOO0OOO0ODOOODOOO0OOOO

o 10~2000000O0ODLODOODOOOOOUOUOOO
e U improvements I OO DOOOOOOO

relicabundancel x OO O OO nO0 00000000000 OODOOOOOOOOODOO
OO000O0O0DO0O0ODDO appendixODOO0O0OMM

le—? = —3Hn— < ov > [n? — (n%)?] (44)
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00 H: 0000000000

O00On*: 00000000 x00OO0O0ODO

Ubb0o: 0000

O00<ov>:x+x— (l)D000000O00O0OOOOOODO

nO000000000000O000000oO
neq%g(mT/27r)%exp(—m/T) (45)
ggogobbg: xObhoOooooooooooooo
ogooooooT:od

0000000 m: x O mass

000000 dark matterd Cold dark matter:CDMO O O0O0O00O0O0D0OO0OOOODO
0o0oooooooo

e freeze-out temperature T ~ m/25
e 0 000D equilibrium abundance

0000000000000 00000000»?00000000000000000
0000000000000 0D0000000000000000»2000000000
oooom

ov = a + bv? (46)
gddooouooootouoooouooouoouoonoo
< ov >=a+ 6bT/m (47)

(45)00000000000000DO000O0O0DO0OOO0ODOO0OOODOOUODOOOOOO
0000O0bOO00O0bOO0OoOOooOooooDooDooooDooooooooooooonoon
00bOd0b0odbOo0odboObOo0bOO0dbOoOO0oDbOoobOoobOoOoOooDbOoOoobooOooo
000000000 oOo0obO0o0bOobOO0o0booOOooDOOo0ooOoOooDbOOoOoooOoooDag
00000000000 D0000D0000 freeze-out 000000 Ofreeze-out d 0000
0000000000 coldreliecsO000O0O0DOODOODOONO hot relics 0 O O O freeze-out
000000 n~nMO000000000000O0DO0O0 freeze-out 0000000 n*200
0000000000 =000000000freeze-out 0000000 (45) 00 n®
0000000000000045) 0000000000000 DOO0O0D200000
00000000000 D0000000 freeze-out point 000000000000 OO0O
(45)0 0000000000000 O0ODOOOODO0OOOOOO
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OO0O0OO0ORef2]000000Ocold relics 0 0000000000 freeze-out point O
gbooboobooobon
0.038gmpym < ov >

gi/%}” ] (48)

xf =lIn|

0000000 z=m/T
0000000 my = 1.22 x 10GeV
D00000D0 gy : freeze-out 000000000

0(49) 000000000 appendix00000MI(49) 000000000000 0O0O0O0
oo0bOooboooooon

freeze-out D O 0 n ~ n® 0000 O freeze-out O O O relic particles 0 annihilation O
O 0 relic abundance 00000000000 annihilation OO0 OO0O0O0O0O0 JOOOO
relicdensity 000000000

* < ov>
J(xy) = / ———dz (49)

00 J(zp)DOOOOy particle D000 mass density 00 000000000000

Q2 ~ 109 x 10°GeV !

50
TP (50)

00000 Q= (000 mass density)/(critical density)
00000 h: 100 kms™'Mpc ' DOODOO0O0O0OOOOO

O00<eov>00000000000y particled 000 relicdensityJO00O00O00O0O0
oooooog

1.09 x 10%2¢
gi/Qmpl(GeV)(a +3b/xy)

Oh? = (51)

00000000000 000o0000o0ooo000o0oooooooooooooong
0o01

equilibrium abundance D0 0000000 D0OOO0DOOODOO0O
oo 2

000000000000 0o0o00oooooooooooooood

=ref3|000000C00OCOOOOODO 10000D0DO0DO0DODODODOOOOO
gbooaoog

oo 3
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g« O annihilation 00000000000 OCOODOOOOOO

= 00000 quark-hadron transition 0000000000 freeze-out O O
000000000000 00oO00o00ooooDooooDooooooog
ooooooood

ubbogoboobuoobboobuooboobbooboobobooobooboobon
U0D000bbOodbD omissions 00 OO0D0OO0OO0D0OOO0ODOOO0OOOOODOOO
goboobooooboooo

Oz, 000000000000O0O0OCO0O0O0O0O0O0OOO 200000 matching
point OO0

O0000xzy0 early times n~n*00000000000000000000O00O00OA0O
O06=n—nM00000000000000000O0O0O0ORef2l000000000 6
00000 freeze-out point D0 d=cn®(¢c00000 1000)0000000O0O0ODODO
gbobooboboooooooooooooooooooboobooboobobonbonDo
obobobobd <eov>~TrO0U00 cOUO0ODODOOODODOODODODODODO

cle+1)=n+1 (52)

0000049 0000000n=00c=+/2-100000000000000000
gboboboboooooobobobobooooboooobooboobobobooDo
go00o0o00000000000xy0 matchingpoint 00000000 0000O00O0O
uboboobooboboboboooboooobooobooo

x; 000000000000 annihilation integral JOOOOOOO0O0O000O000OO
goooobbooboooboobooboobooooboooobobooooboboogo
0000000000000 00000000000D0O0DOO c=+/2-1000000
gbooboog cO0bOO0o0boboo0oboobboobboobbooboooboonobo
uboboobooboobboobooobobooobooboonoog

OO00D0O00D00O0 relicabundance OO OO0DOOOOOOODO

(a) (45 000000000000
(b) (49) 00000 <ov>0000 2; 0000
(c) annihilation integral JO O O OO OO0OOO (51)00000O0O

0000000000000 00O00000D O(e)bOOD0O0OOO0 <ov>0000
gbooono
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4.3 relic abundance from coannihilation

0000 relic particle(x;)) 0000000 mass 000 (extra particle) 0000 00O
0000000000000000000 mass difference 6m = m —mq O Tf(:>X15
annihilation O freeze-out 0000000 )0000000000O0 extra particle O
O0000000000000000000 dm=T,0000000 extra particle O relic
particle 00 0000000000000 O0O0O0O0OOT,0m 0000

Ty ~my/25 (53)

0000000000000 0000000000000000D0 0000004 mass degener-
acy 0 50100000000 O Oextra particle 0 0 0 O O annihilation O relic abundance
Oo0ooooooon

O000000000000000 x4 (:=1,2,..,.N)ODOOOOOOOOOOOOOO
x; O standard model 0 0000000000000 0OODOODOODOODOOODOODOODO
O00000ooooooooooooog

e R-parity 0 0 00O SUSY particle
e I0D0DO0UDOODODOODODO pseudo-Higgs particles(Ref(4) 0 0O)
00000000:<j000m;<m; 000000 labelOODOOO
000000 xi(mass : mp) = lightest
000000 xa(mass : my) = second lightest

0001000000000 0000D000000OD00000DOO00D0AO lightest particle
Odarkmatter 000000000000 OOO0ODOOODOOODOOOOOOODOODO
ubooooooooooooooooooog

x; UO0Ooo0oooDbo0oU0bO abundance 00O 0O0OOOODOOODOOODOODODOO
uboobogoo

XiXj < XX (54)
XiX — ;X' (55)
Xj — xiXX' (56)

000 X 0X O standard model 00 0000000000000 0000D00DODO0O
gboobobobobobobo

XiXj < XkX
iX «— XX

(57)

25



00 (57) 00000 reasonablerate 0000000000000 x(:>1)000000O
x10OdecayOOOOOOOOOODOODOOGS~S)OO0O0O0O0DO0O0O0OOOODOODOOO
ooodoooooooooao
dn;
dt

=—3Hn; — Zj7x[< iU > (nmj — nfqne.q)—

! (58)

(< a;jv >niny— < a}iv > njny) — Lij(ng — ngd)]

goboobooboobobooboobbooboon

010

U= 0b0b0oougoooaoon

g 20

0 = (55) 0000 (both forward and backward) O O O
030

0 = (56) 0000 (both forward and backward) O O O
040

0 = decay U inverse decay U [0

000 lightest particle U D OO0 OO0 O0O0OO0OO0OO0ODLOOODOOODOOOOOODOO
000 Oannihilation 0000000000 x(¢: >1)000000 x30 decayO0OOOO0
n, 000000000000 n;0000000x;0 total density n=%;n;, 000000
ugbboobuogbbooboobbooobuooboooboobooobooboan

%:—3Hn—2i,j[< aijv>(ninj—nfqn§q)] (59)
00oOO0o0bOO0odbOo0oObOodbOo0ooDbOoooOo0o0obDbO0o0OooDbOoOoDOOg N=2
0000000000000 0000000ooooooOoOO (YoOoooooooooo
0000000 i000000000oooUooGY)LoooooUoooooooo
0o00od0bO0ddoOodoDbOOo0obDddoOo0ooDbOOo0obOo0oDoOooDobOOoOoooooo
do0bOooobOO0doOooobO0o0dbOooobO0o0bOoooDbOooooDbDOoooooooa
idoooooooa
iiLij(ni — ng?) = 5;(T'15 + Taj)(n1 4+ n2 — ny? —ny')
(60)
= (T12 + Ta1)(n1 + na — nf? — ng?)

O00000000TI20 I'yy O decay O inverse decay OO0 00000000 0O0O0O00OO
0000000000 T+ Iy =000000000000000000000O000O00OO
0000o0DbO0odoooobOooooobooooboobooooboooooooonog
00000 (60)000000D0OD0O0O0000O0 (e0)DDODOD0O0ODODODODOODODODODODOO

aoo

26



e Y particle 0 00O 00O O annihilate 0 O 0 O cosmic asymmetry D00 0000000
000000000000 00o000o0Doo0oo0o0ooon

= uboubogbogboboboobobuobobuoooobaoobobgoon
oo

e (5500000000 iI=j 0000 ((O)DCO0O0OO0OO 200000000000
goog

ooobooooboooobooo §

gbbooobuooobbooobboobbuooobboobobao %DDDD
DDQ-%:lDDDDDDDDDDDDDD

e (60)0000I0;j0000000;;0 symmetric0000000O00,, 000000
ooooooob 2000

O0000000000Ofreeze-ont 000000000 0O0OO0O(GBGS) 00000 (56)
00G7o000000000000000D000000D00DU0OO00D0D0OUDOoOD
000000000000 (GS,)0oGiioooo0ooooooooooooooo
goog

3 3
ninjoi; ~ Tm? m; oijexp[—(m; +m;)/T| (61)
’ 3
Ninx0o;; ~ T%mf o jexp[—m;/T]

goan
e dark matter 000000 Ty ~m/250 freeze-out

/

gbobooboobooboboobo 20000000 boobooboooooboooo
ubobooooaoo

nmXJ;j/nmjaij ~nx/n;
3
~ (T'/mj)2explm;/T]
= (1/25)%(330]9[25]
>~ 10°
relic particle 0 freeze-out 0000000 (b5) 000000000000 O0OOOOOO

gboboobooboooooooooooooooooooooooboobobobonDo
ooobooooon

ni/n ~ nil /n (63)
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0000000000 Ototal x density O x; density 0 O O freeze-out OO0 OO0 0O
000000000000 0000000000000000000000000000
ooooooo
ri = ng?/n
_gi(l—l—Ai)%e:cp[—xAi] (64)
geff

Az’ = (mz — ml)/ml (65)
3

Gerf = 2igi(1 + Ay)2exp[—rA]
ogoooooo ni/n%nfq/nquDDDDDDDDDDDDD (GO)DDDDDDDDD

goboobogno

(ji—?; = —3Hn— < aeppv > (n* — ngq) (66)

Teff = ijOijliv;
_ gig; 3
—Zijaij72 (1+Ai)2(1+A]‘)
esf
0000000000000 0oo0oLO00ooobL b oL LoD oobbooooo
0000000000000 00000000000 0000 oObO0o0oOooOoobOoOoO0oo
00000000000002,0000000 annihilation integral 000000000
O relic abundance 000000 O0OO0OOODOO

oerp 0000 freeze-out temperature 0 000 OO

(67)

3
2

exp[—z(A; + Aj)]

0.038geffmplm1 < OcffU >
1/2_1/2 ] (68)
G« Ty

gooodooooooobdoegp0bbO000doooooooooodnog

xf =lIn|

Oeff = eff + boppv’
eff eff eff (69)

= aeff+6beff:r_1
000000 annihilation integral JO OO OOOO0OOO

e}
J = / ZelS 4o

=/ x2aeffda:+/ 6.’13‘73beffdx (70)
Tf zrf

= ((111[@ + 3611Ib/acf)/a;f

rp [

I, =— T aefpdx
ail Jo;

I, = -7 .1,‘_3beffd:6
b11

xf
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0000000 arObege 0 (68) 00000 0;; 00000 a;;0b;000000000
O0b0o0oo0oooobooboboouooobbooJooboooodO relic abundancel
O000OOextraparticle 0 00O 000OO0OO0ODO relicabundance 000000000
oono

1.07 x 10%¢

Qh* = 1/2
9" “mp(GeV)(a11la + 3b11 1o /)

(72)

O00o0000000000000000000040 relic abundance I zp, 000000
x,00000000000000000000000 extra particleJO000000O00O0
oooodoobobooobooboboooooooboobobobooboDoboboobD RO
uboboooboogn

R= Qold/Qnew (73)
~ Jnew (xf,new)/Jold(xf,old)

000D0000000000000000000
e 0, 000000
e ,0L,00D0ODO 1

O00000000000Orelicabundance 000000 200000 freeze-out tempera-
tuwre 000 0000000; 0000000000000 OOextra particlex; O xiparticles
O extra degrees of freedlom D0 00000000 0Omass000000000O00O00O0OO

gepr =N OOODOOOOOO0OD0O0O0O00O0O00O s-wave annihilation 00000000
o000 ROODODOOODOOOO

R~1—a;'In[N] =~ 1-0.04in[N] (74)

obooboobobooo N=2000000000O000O0OOOOOSDODODODODO
OO000000CO00DO000O0O0bObO00DOOb00OO0nDDOOOdextra particle
O massd darkmatter IO D ODOO00O0O0O mass0 0000000000 DOOOOOOO
DOb0O000DOextraparticle0 00000000000 0ODOOOO0OO0ODO

OO00D0OOoOobooOosSySyooooooooooooobooOooooooboogooooo
ugbooooood

000 LSP(x1) = neutralino
000 NLSP(x2) = squarks

NLSPOO LSPO OO OO mass0O0 OO0 Next Lightest Supersymmetric Particle 0 O
0000000000000 O massO000000O0D0O0OOmrLsp=ZmyrLsp00000O
O00oo0o0ooo0ooooo e;00000000D0000O0O0O00O0O0O0O000O0
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ugbboobogbboobobooboobobooboobbooboobbboonbobo
booboooboooooooooooooooooooooooooon

02244 — 99) = (as/@)o12(XG — 99) (75)

12

(as/a)?o11(XX — q9)
ool g=00oon

gboodbob¢ge=0000
UO00000 ag =>strong-interaction coupling

UO00000 a =electroweak coupling

ddddddddddoooodddodddgduoddd = atermonlyd O OO
00000 o9 = Ao = A%20110as/a~200000A~20000000020000
000000000 effective cross section 0000000 OO effective cross section O O
doodoooooooooooo

Ocff = 011[11—:_?:)]2 (76)
w=(1+ A)zexp(~zA)gs/g1
A = (mg—m1)/m (77)

x=my/T
O O O effective number of degrees of freedom OO0 000000000 OOOOODOO0O
gooooooooooooooboooo

Gerr = Digi(1 + Ay)2eap(—zA;)
=g(l1+w)

O000D0000D0000000Odegenerate limitCOO0OO0OO A=000000000
0000000 lmit000000A~200000000 0 effective cross section 0 O O
0000o0o0oooon

(1+ Aga/g1)*
(L4 92/91)
A%g3 /g

(1+g2/91)

AQ

= 0 _—

ey

0000000 s-wave annihilation 00 0000000000000 0000O0OO0O ef-

fective cross section 0 0 R(deg) DO 00D DOO00OOODOOOOOOOODO

oepr(deg) = o11]

%011[

R(deg) ~ I = A%/(1 + g1/92)° (80)
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ubooboobobbooboboobobooboboooboboobaoboonooobobon
LSPO0O0OD0DO massO0O0 squark DO O O0OO0OOOOOOODOODOODOODOOODO
O0Osquark 00000000 3000000000000000O00OOg/n=30000
R(deg) 00000000 DOODODOOODOOOO

R(deg) = A%/(1+ g1/g2)?

(81)
~ 400/ (1 + 1/3)* ~ 200

O00D0000DOO0D0OO0DOO00O00000000000600 squark O left chiral state
right chiral state 0 O 00 massd LSPmass 000000000000 OOOOOOQOO
O00000Oge/gn = 180000 R(deg) O

R(deg) = A?/(1 + g1/g2)*

(82)
~ 400/(1 4+ 1/18)% ~ 380

00000000000 200000000000000000dextra particled 0000
000000 R(deg) DOOOUOOODDOOO

00000 LSPONLSPO massO OO 0OOD0OOO0OODOODOODOOOOOOODOODOOO
0000000000000 (A# 0)D0O0OOU0OOODOOOOODOOODOOOOODOD
O00000000(72)0000000000000OO0O00OODOODOOOOO0OOO A0
Troqd g 0000000000000 0000000O00000 extra particle 0 OO
doooooood

O00A =200¢g2/g1 = 300000 squarck 0000000000 0OOO chiral state
OmassO00 LSPmass 000000000000 DOOO0DOOOOODOOODOO0O QuO
Qpew O 00O 00O standard caluculationd coannihilation 0 O O O O caluculation 0 0 O O
00000 relicdensity OO0 O0O0O000000000000O00O0O04000 x¢0q =25
000O0d0bOO00oOodoDbOOo0obDOddoOo0ooDbOOoooOoooDoOoooOoDOooooooo
O00D000D0D0OO000D00O0O0 matching technique 0 00000000 OOOO0DOOODOO
O0000O000OD0DOODOmatching technique 0000000000 O0OOOOOOOODOO
000000 0o00ooooooooobooooooobOobDooooobOOobOobOoDboOon
00000000 O0Omatching point O freeze-out 0000000000000 OODOO
0000000000 0000000000000000000000000000 2,14
OO0 neutralino 000000 mass 0O OO0 D0DO0ODODOOOODOOODOOOODOOO
000000000000 bOOo0oOo0OoDoOOooobOo0o0oDbOOoOobOoOoooOon

O00xf0q =250g2/91 =300000 A000000000O0D0O0OO0O0OOA =200
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